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Source unknown. From Robert White's lute duet. (1910), %1. Encoded and edited by Sarge Gerbode.














  30 















































































 







 


 


  




























































     



35 


 
 























  

















40 










 













 












 




































 

  

 


 













 















 



















 

 


 













  45 



















   



 

 


 













 




















 





























 




























   






























 












  

50 











  


















































































 






















 
































  












 



















- 2 -


